[image: image1.png]Q1. Holiday Meal Turkey Ranch is considering buying two different types of turkey feeds. Each
fecd contains,in varying proportions, some or all ofthe three nutrtional ingredients essential for
fattening turkeys. Brand Y feed costs the ranch $0.02 per pound. Brand

‘The rancher would like to determine the lowest-cost diet that meets the
nutritional ingredicnt.

The following table contains relevant information about the composition of brand Y and brand 7,
s well a5 the minimam mentbly requirement for cach nuiritionl ingredient per turkey.
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A, Formuulate the problem as a Linear Programming model
B Whatis the optimal solution for this problem?




